Winkler Test for dissolved oxygen
Method:

· Collect 250ml of water in a 250ml stoppered bottle, making sure there is no air trapped inside.
· Use a 1ml pipette to transfer 1ml of manganese(II) solution to the water sample, injecting the liquid below the surface of the water, and taking care not to blow any more air into the water.
· Use a 1ml pipette to transfer 1ml of alkaline potassium iodide solution to the water sample, injecting the liquid below the surface of the water, and taking care not to blow any more air into the water.
· Replace the stopper on the bottle without trapping any air and agitate the bottle to mix the reagents
· Add 1.5ml of concentrated sulphuric(VI) acid which will dissolve the precipitate and liberate iodine
· Titrate 100ml of this solution with the standardised sodium thiosulphate solution, adding 2ml starch solution near the end point. (1 mol oxygen = 4 mol thiosulphate solution)
Calculation:

1 mol oxygen = 4 mol thiosulphate solution

O2 = 4Na2S2O3
1 Mole of Sodium Thiosulphate = 23 + 23 + 32 + 32 + 16 + 16 + 16






= 158

1 Mole of Oxygen = 16 + 16




= 32

Calculate moles of sodium thiosulphate used = volume used  x concentration








     1000cm3
Moles of oxygen = moles of thiosulphate
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